SMTFE6H2TH

w7 FE MUTEERE (EF) a8k RERR

CX TRRERERI ORTICSOVT
L T RERFDHEBRESD B 1RARARER . [RREBER (CRELET,
- 2XERFDHBRE DD 155 2RABRAEER X, TREABER ITRELET,

RFHFER (PHRER) (4 AERE]

TR BARE 18 17 15 - 14 1.2
= EF4 10 10 7 - 2 5.0
1 EF4 7 6 4 - 2 3.0
EX PUN 14 10 8 - 3 3.3

1 e s o Ao = R s
) EATE A ZHREH F1xRHEER  Fo2xHER & BEEE
SRS g | wAE ® swEm  amEM N g
ERE=Em ANEE 6 6 - - 4 1.5

RFHFIEE (6 AXHE]

EHA 56 NTERE 190 131 113
E%B 15 AR 134 105 06
FI9I EF4 5 5 5
HatEt AR 16 12 10

IR BELIKR-ERB BAERE 25 12 10 -
fe-£:2 2ANERE 4 2 2 -
B YN 4 2 1 -
EX AR 6 3 3 -
=2 aT4 6 4 4 -
Bt aT4 8 7 4 -

1/2 R=3

S 7EE KRR




RETERE (6 AXrE)

DIBHIES =18 11 6 4 -
{R{E2ED INTZREE 24 19 19 -
EIERET =18 32 24 5 -
EXE=RT =18 3 1 - -

i ] 8
gBEPE . BREY BIXRBR FoREBR | B EE
HBRES g | FREM W amEm  smEm T
=5 15 AIRE 478 443 62
22 R—T SHTEE EHRR




